INSTALLATION INSTRUCTIONS PHILIPS
corerosy covmars 1o rouns rocs Coy GARDCO

IMPORTANT: READ ALL INSTRUCTIONS BEFORE PERFORMING ANY WORK.
BE SURE ALL POWER IS OFF PRIOR TO INSTALLING LUMINAIRES.

! ! Round Pole o
. - : PureForm Luminaire

N ‘ 225 + 03 N 225 t 03 e /
Y 150 + 03 * TN 217 + 03 ’ -

*r 200 + .03 | 384 + 03 ) 3 —
+ b B : =
DRILLING DETAIL FOR A1 & A2 DRILLING DETAIL FOR A3
N~
Bolster Plate
3/8" Hex Nut 3/8"-16 x 2" Hex Head Bolt

Split Lockwasher and Flatwasher
and Lockwasher P

i 2) #10-24 Allen Set S
(Str:i::bliz;igfe) Terminal Block (Optional) Driver @ en et serews
Ground Lug (Optional)
Luminaire ’ W,
Lead Wires 0 j |
S ML
i Nl
i L - A ——"
- LE
1
Supply gnd [
Ground Wires
Arm Assembly (2) #8-32 phillips screws Housing Door

1. Located on the bottom of the arm assembly, loosen (2) # 8-32 phillips screws using phillips head screw driver.
Open arm assembly (screws are captive and will remain on door).

2. Insert the bolster plate into the inside of pole with tapped hole toward the base. Bolster Plate
Position luminaire so the top mounting hole is aligned with the top hole on the pole.
Install lockwasher and flat washer to the 3/8-16 x 2" hex head bolt and bolt through
the top mounting hole. Install split lockwasher and nut to the end of the top bolt.
NOTE: Square Poles: Use square pole adaptor. i
NOTE: For Arm 3, use the threaded 3/8-16 rod. See Fig. 2b.

3. Thread 3/8-16 x 2" hex head bolt with lockwasher into the bottom tapped hole 7
in the bolster plate. Tighten the two bolts to 18 ft-lbs . Z

3/8 Hex Nut,
4. Connect supply and ground wires to Luminaire lead wires. Split Lockwasher, ([ i

and Flat Washer

Make wire connections per NEC or applicable local codes. ‘
5. Secure the supply wires with cable tie (strain relief) on the bolster plate and in the arm. .
6. Install photo control if used. Flg- 2b

7. If rotation of light engine is required, the following steps will be needed: All luminaires are shipped from the
factory with light engine installed such that the orientation direction is the "standard position." (See Figure 3)

8. Rotating Light Engine - P21: Open housing door by loosening (but not removing) the 2X #10-24 allen set
screws located on the front of the luminaire. Loosen and remove 3X screws from the wire way cover along the
side of the light engine and remove covers. Detach wires from wire retainers to allow rotation (Fig 4).

© 2016 Philips Lighting Holding B.V. All Rights Reserved. p H I ll ps
www.philips.com/luminaires
443561060770/A819920 REV. D

Page | of 7

Threaded Rod




INSTALLATION INSTRUCTIONS PHILIPS

PUREFORM LUMINAIRE TO ROUND POLE & GARDCO

IMPORTANT: READ ALL INSTRUCTIONS BEFORE PERFORMING ANY WORK.
BE SURE ALL POWER IS OFF PRIOR TO INSTALLING LUMINAIRES.

shown in Figure 3 to desired position. See Figures 5 & 6.

Wire way Covers

Remove 9X #8-32 phillips head screws from the light engine. Next, rotate light engine 90° from standard position

Wire Retainers

Wires from Light Engine

o

OOOOOOOOOOO
®

O000000000()
®

O00O0OQ0O0000O0

|

TSW-A

®

0000000000 lf
0000000000

O0000CO0000O0
O0000C0000O0
000000000

9X Light Engine Screws
Remove 3X 8-32 Screws
Light Engine
F
s LED Frame ]
2X #10-24 °
[ONORON®) 000
DO0opO00 Allen Set
00000000 Screws
O0O000000 .
00000000
« oo o©o|]:
AIM 00000000
00000000
00000000
OO0O000000 ®
i

\ ®

STANDARD ORIENTATION

Fig. 3

Wires from Light Engine

9. While rotating, make sure the light engine aligns to the same holes used before and that the LED wires do not
get pinched under frame. Route wires as shown in Fig. 5 or 6 depending on desired orientation using wire
retainers as needed. Skip to step 17 to finalize Light Engine rotation.

AIM f

5

Wires from
Light Engine

#’/
® —] ®
L wvwmsL \
0000000000
ocoooocooooo| f
0000000000 il
0,0 00000000]| ¢
0000000000
0000000000 0 1e
000000 0000||g EZl/
0000000000 \7
® ® e oy°
= /) 7
\ . - 21©® _'j '
° /
\‘a._@'

AIM ‘ Fig. 5 90° ROTATION ORIENTATION

©2016 Philips Lighting Holding B.V. All Rights Reserved.

www.philips.com/luminaires

443561060770/A819920 REV. D
Page 2 of 7

PHILIPS




INSTALLATION INSTRUCTIONS PHILIPS
SUREFORM LUMINAIRE 1O RoUND PoLE (C39 GARDCO

IMPORTANT: READ ALL INSTRUCTIONS BEFORE PERFORMING ANY WORK.
BE SURE ALL POWER IS OFF PRIOR TO INSTALLING LUMINAIRES.

If rotating Light Engine in P32, follow these instructions:

10. Open housing door by loosening (but not removing) the 2X #10-24 allen set screws located on the front of the
luminaire. Loosen and remove 4X screws from the wire way covers along the side of the light engine and
remove covers. (Fig 7). Detach wires from wire retainers to allow rotation (Fig 8).

11. Remove 9X #8-32 phillips head screws from each light engine.

12. If the rotation position desired is Fig. 11, then both of the Light Engine Modules will need to be rerouted. If the
rotation position needed is Fig. 12, then only the Light Engine Module that is furthest away from the driver will

need to be rerouted. Wire way Covers
e Remove 4X 8-32 Screws
Light Engine 2 Light Engine 1
y 4 (] o
> [©)
oooo@oool@’@oooo@oooi@ ‘
00000000 0OooO0ODOOO| B
00000000 00000000
0DOD0O0OO0O0O 00000000
<= 00000000 00000000 .
NY C)@OOOQOOO@OI:D OOOOOQOOC)@O]—_I & F|g 7
00000000 00000000
00000000 00000000
00000000 00000000 |-
00000000],lel0o0000D00O], o4 o
® o @)
o [
® ®©
Wire Retainers
9X LED Module Screws , . .
\ Wires from Light Engine
LED Frame S— =
\ cooooooo]®|®[ooocoocoo00
0DO000000O0 00000000
00000000 0000000 O0
00000000 00000000
00000000 00000000 :
.- o%oo"’ooe%ﬂ 0°0 0 * oo@’o[ﬂ € F|98
AIM 00000000 0000000 0
0000000 OoF 00000000k
00000000 000QO0000| [
00000000 ]4|el0000000O0
* =
2X#10-24
Allen Set Screws §
Wires from Light Engines

© 2016 Philips Lighting Holding B.V. All Rights Reserved. p H I ll ps
www.philips.com/luminaires
443561060770/A819920 REV. D

Page 3 of 7




INSTALLATION INSTRUCTIONS PHILIPS
G carpco

IMPORTANT: READ ALL INSTRUCTIONS BEFORE PERFORMING ANY WORK.
BE SURE ALL POWER IS OFF PRIOR TO INSTALLING LUMINAIRES.

13. Carefully turn Light Engine upside down and loosen the 3X 4-40 screws and remove the wire cover to
access the LED Module wires.

14. Reroute wires as needed, following the Fig. 11 or Fig. 12 diagrams. The wires need to be come out of the
middle of the module as shown in (Fig. 10).

15. Once rerouted the wires on the Light engine reinstall Wire Cover onto LED Frame with the 3X 4-40 screws
removed earlier.
Note: Be sure to check that wires are not pinched in between wire cover and frame.

Route wires through middle of Frame
And replace wire cover

Wire Cover

Gasket

LED Frame

Wire Retainers

4!/47
[N K]

Wires from Light Engine

] 7
e — —
| I T L] vms
O000000000 OOOOO@OOOOO
O000000000 O0000O0O000OO0
O000000000 O0O000O0000O0
OOOOOOOOO@O O@OOOO@OOOO@O @ .
O000000000 O000000000 F|g11
O000000000 O0000O0O000OO0
O000000000 OOOOO@OOOOO
O00O00O00000 OOOOOOOOOOTII
/ [N K<)

Light Engine ZJ AlM ‘ Light Engine 1

(© 2016 Philips Lighting Holding B.V. All Rights Reserved. p H I ll pS
www.philips.com/luminaires

443561060770/A819920 REV. D

Page 4 of 7




INSTALLATION INSTRUCTIONS  PHILIPS

PUREFORM LUMINAIRE TO ROUND POLE & GARDCO

IMPORTANT: READ ALL INSTRUCTIONS BEFORE PERFORMING ANY WORK.
BE SURE ALL POWER IS OFF PRIOR TO INSTALLING LUMINAIRES.

' 9X LED Module Screws (per Light Engine )
AlM Wires from Light engine

@
(]
(]

0000
0000
0000

Son M

ODOOODO@)O
O000000O0
O000000O0
O000O000O0
O000000O0
O000000O0
O00000O0O0

oooc®ooo
00000000
(C)
@®
0000000
o
*0
o
o
0,0 0 0,0 0 0.0

oooc®ooo

0000
0000
00O
O 0 QL

®

0000

O000000O0
O 0000000

foooooooo

0
I
(H]O @]

>

®

]

Light Engine 2 Light Engine 1

16. Flip Light Engine Module back upright and line up with the 9X mounting holes making sure that the Frame
Gasket is properly seated on the heat sink. Route wires around Light Engine as shown in Fig. 11 & 12
depending on orientation using wire retainers.

17. Secure Light Engine Modules with the 9X #8-32 phillips head screws previously removed and torque to 2 ft-lbs.
Replace wire way covers and secure with 3X #8-32 screws.

18. Close housing door and secure with the 2X #10-24 allen set screws.

19. Close arm door and secure with the 2X captive #8-32 screws.

20. Install bird deterrent if applicable (See Fig. 13).

21. Energize luminaire to test installation.

Bird Deterrent Spikes

©2016 Philips Lighting Holding B.V. All Rights Reserved.

www.philips.com/luminaires

443561060770/A819920 REV. D
Page 5 of 7

PHILIPS




INSTALLATION INSTRUCTIONS PHILIPS
PUREFORM LUMINAIRE WITH LIMELIGHT

G carpco

IMPORTANT: READ ALL INSTRUCTIONS BEFORE PERFORMING ANY WORK.
BE SURE ALL POWER IS OFF PRIOR TO INSTALLING LUMINAIRES.

LIMELIGHT INTEGRAL TO LUMINAIRE

Luminaires ordered with the LLC

option are shipped with LimelLight
Radio Control pre—installed, wi
black, white and green wires for
field installation. “Follow
instructions on previous pages
and after the luminaire is
mounted on the pole, the
contractor will make the
necessary connections to power
the luminaire.

P21 P32

REMOTE MOUNTED LIMELIGHT

LIMELIGHT MOUNTED TO POLE

Luminaires ordered with the LLP_ option will arrive
in a box with a detached LimelLight radio control
pod included. Luminaire will havé black, white,
Ereen, ﬁurple/viqlet and gray leads. The included
imeLight pod will arrive with red, black, white,
purple/violet and gray leads.

The luminaire is installed on the pole usin<|;

instructions on the previous pog(es. Install’ the

LimelLight radio control pod at the designated

location on the pole using the cover plate and

SCrews ?rowded. NOTE: ~Apply the included
dsketI o the cover plate before installing it to
e pole

Contractor connects the luminaire and  the
LimelLight radio control pod as shown in the
wiring ‘diagram using NEC code wire gauge
requirements for that application.

LIMELIGHT MOUNTED TO WALL

LimeLight radio control pod will arrive in a box to
the installation site. Contractor will connect the
white and black leads and cap off the red,
purple/violet and gray leads when the radio is just
used as a radio/hopping component. (See module
illustration below)

Apply the included gasket to the cover plate to
weatherize the cover before installing it 'on a
J—Box using the included screws.

©2016 Philips Lighting Holding B.V. All Rights Reserved.

www.philips.com/luminaires

443561060770/A819920 REV. D
Page 6 of 7

PHILIPS




INSTALLATION INSTRUCTIONS PHILIPS

PUREFORM LUMINAIRE WITH LIMELIGH T & GARDCO

IMPORTANT: READ ALL INSTRUCTIONS BEFORE PERFORMING ANY WORK.
BE SURE ALL POWER IS OFF PRIOR TO INSTALLING LUMINAIRES.

WWHIT
ELACK 15 LET [
_\ '-'a..vlr.--.-.Il;-l1|..|.|| W IAF T B0 s oy m " I ——r
GREENM i p— r

e -
L
* jerev
F22 LUMINAIRE
BHIPPED YT H 12" VWRER
{5 REEN, ELACK, WHIT E WOL B, & GREY)
T T
i o el TR INBIDE THE POLE,
. LE o = CONTRACTOR TO UM RE
o @[3 [ [= (A00V 106 T MIN. 18 A%E)
\“‘“-uq___'__,_,.r“'
n [ ]
Lo m}ml
. WHITE |
" REL
GREEN SREEW
FREEN W HITE

BHI H 12"
Oz WIRENUT (3 REEN, RED, WHIT E, WO LET,

SIMGLE LIMELISHT RADID CONTROLLER
WITHTWO P27 LUMIN LIRES
SHIFPED WATH 12" WARES (G, ELE, WHT, v, & GF|

o H \;7/”_“::.\ Q aH
T|_|_|—\\ EI"—" =

S

- I HSICE THE PCTLE,

; > TOHTRACTOR TS WIRE
L

[N aap

(400 105 C MIH. 15 AW G

—

Mg

1

LIV ELIE HT
SHIFFEDWITH 12' WIRES( BLE, RE: WHT, v, &GR|

© 2016 Philips Lighting Holding B.V. All Rights Reserved.

Philips Lighting North America Philips Lighting Canada Ltd.
Ty www.philips.com/luminaires Corporation 281 Hillmount Road,
7 200 Franklin Square Drive, Markham ON, Canada L6C 2S3
eé; 443561060770/A819920 REV. D Somercot N 08873, USA
. ) )

Page 7 of 7



